
The laws of physics govern global temperature.

The earth, land and sea, are heated by the sun's short-wave rays which pass 
straight through the atmosphere, stopped only by clouds.

According to thermodynamics, the energy received from the sun is transferred 
in three possible ways. Longwave radiation, conduction (touch) and convection 
(replacement).

The atmosphere as a whole insulates, delays the departure of energy

Energy is emitted from a hot area, object, molecule to a cold equivalent,
NOT OPPOSITE! It stops when the temperature is evened out!

The air is moving, encounters air with a lower temperature and the same thing 
happens again.

No more energy is created in the process!

The process does not stop! Finally, there is a departure of energy from the top 
layer of the atmosphere into empty space.

Measurements show that over the year the global average the temperature 
increased, only about 0.02 degrees according to the trend in the measurements.
There are peaks and dclines in temperature that cannot be explained by 
variations in the amount of CO2 in the atmosphere. No other variations in the 
composition of the atmosphere have been observed that could explain these 
small temperature variations.
In contrast, there are variations in the earth's orbit around the sun, in the 
position of the earth's axis, in the influence of the planets and the moon, and the
sun's radiation.

I think that the theory that CO2 in the atmosphere heats up the climate system 
can be put away.


